Solucion del Parcial | - EC1723
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b)43215=4x5°+3x5%°+2x5 +1x5°=500+75+ 10 + 1 =586

586 8
26 73 8 43215= 11128
2 1 9 8

c) 1"12°02°015 = 1521
d) 1010010,1001, = 2%+ 2* + 2 + 27" + 274 = 82,5625
e) AC284 = 1°010°110°000°101°000, = 1260504

f) 490510 = 0100 1001 0000 01018cD

2.-a) 100100, — b) 1AB3y +
010011, 452Cy
010001, 5FDFy

3.-a) 10011001 + 10011001 + b) 01101111 +
00010100 11101100 01110101
10101101 1 10000101 11100100

Overflow

c) 167675 +
24534
214424

01101111 +
10001011
11111010

4-F(xy,z)= (y' + 2) (x +y + Z) [(X(y + Z)" + x)' + 2] [(Xy'Z)" + Z]
=(XY +yZ +xz+yz) [(X(y+Z)) X +Z] [x+y +Zz + Z]

=(xy +yzZ +xz+yz
=(xy +yzZ +xz+yz
=(xy +yzZ +xz+yz
=(xy +yzZ +xz+yz

1 H H

=XyZ +xz+yz

[(x+y+Z)x +2]
Xy + Xz +2)
(Xy + X +z)

(X' +2z)=xy'’z+X

) ) )

N e e’

yZ' + xz+ Xyz+yz



A B

Ar | Ay | Bi | By | Zy | Z, | Z5
0 0 0 010 0 1
0 0 0 1 0 1 0
0 0 1 0 0 1 0
0 0 1 1 0 1 0
0 1 0 0 1 0 0
0 1 0 1 0 0 1
0 1 1 0 0 1 0
0 1 1 1 0 1 0
1 0 0 0 1 0 0
1 0 0 1 1 0 0
1 0 1 0 0 0 1
1 0 1 1 0 1 0
1 1 0 0 1 0 0
1 1 0 1 1 0 0
1 1 1 0 1 0 0
1 1 1 1 0 0 1

b) Zi=2 m(4,8,9,12,13,14)
= A1'AgB1'Bo'+A1Ar'B1'Bo'+A1Ay'B1‘Bo+A1AB1‘Bo'+A1AB1'Bo+A1AB 1By’

Z,=2 m(1,23,6,7,11)
= A1'Ay'B1'Bot+A1'Ay'B1Bo'+A1'‘Ag'B1Bot+A1‘AgB1Bo +A1'/AgB1Bo+A1A:'B1Bg

Zs=2 m (0,5,10,15)
= A1'Ay'B1'Bo'+A1‘AoB1'Bot+A1Ay)'B1Bo'+A1AB1Bg



